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for every 9,090.9 votes that it wins. The Imperiali quota for the same district would be 
100,000 / (10 + 2) = 8,333 votes, and the Reinforced Imperiali quota would be 100,000 / 
(10 + 3) = 7,692 votes. The Droop quota is simply the Hagenbach-Bischoff quota (9,090.9), 
plus one (9,091.9), minus the “decimal part,” that is, 9,091.

We now provide an example of how seats are allocated to parties in a list PR system that 
employs the Hare quota system. Table 13.6 illustrates the election results for a ten-seat dis-
trict in which 100,000 valid votes are split among six parties, A through F. How many seats 
does each party win? As we have already seen, the Hare quota in this case is 10,000. Because 
Party A has 47,000 votes, it can “buy” four seats at the cost of 10,000 votes each. After receiv-
ing these seats, Party A has 7,000 votes or 0.7 of a quota left over. Following the same logic, 
Parties B, C, and D can all “buy” one seat each, and they each have a different number of 
votes left over. You’ll have noticed that we have allocated only seven of the ten seats available 
in this district so far. The seats that we have allocated so far are often called “automatic” seats. 
What happens to the three “remainder” seats? How are these seats allocated?

The issue of remainder seats occurs in all list PR systems that use quotas to allocate seats. 
The most common method for allocating remainder seats is called the “largest remainder 
method.” Table 13.7 illustrates how the largest remainder method works in our ten-seat dis-
trict. Remainder seats arise when some district seats are left unallocated and none of the 
parties have a sufficient number of votes left to “buy” them at the “full price” set out by the 
quota. The largest remainder method essentially allocates the remaining seats to those par-
ties that can “pay” the most for them. To determine who can pay the most for the remainder 
seats, we calculate the fraction of a Hare quota that was left unused (remainder) by each 
party. The first remainder seat is then allocated to the party with the largest remainder. In 
our example, Party A wins the first remainder seat because its remainder (0.7 quotas) is the 
largest. In effect, Party A can pay 7,000 votes for the first remainder seat. The second remain-
der seat is then allocated to the party with the next largest remainder. Party E is the party 
with the second largest remainder (0.61 quotas); it can pay 6,100 votes for the second 
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Party A Party B Party C Party D Party E Party F Total

Votes 47,000 16,000 15,800 12,000 6,100 3,100 100,000

Seats 10

Quota 10,000

Votes ÷ Quota 4.7 1.6 1.58 1.2 0.61 0.31

Automatic seats 4 1 1 1 0 0 7

Remainder seats 3




